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è
p
ar

ti
co

la
rm

en
te

se
m

p
lic

e.

S
om

m
a:

(2
5
) 1

0
+

(1
9
) 1

0
=

(4
4
) 1

0
.

1
1

0
0

1
+

1
0

0
1

1
=

R
ip

or
to

1
1

1

1
0

1
1

0
0

D
iff

er
en

za
:
(2

4
) 1

0
−

(1
3
) 1

0
=

(1
1
) 1

0
.

1
1

0
0

0
-

0
1

1
0

1
=

0
1

0
1

1



P
ro

d
ot

to
:
(1

3
) 1

0
·(

1
4
) 1

0
=

(1
8
2
) 1

0
.

1
1

0
1

·
1

1
1

0
=

0
0

0
0

1
1

0
1

1
1

0
1

1
1

0
1

1
0

1
1

0
1

1
0

Q
u
oz

ie
n
te

:
(2

8
) 1

0
:
(9

) 1
0
=

(3
) 1

0
co

n
re

st
o

1.

1
1

1
0

0
1

0
0

1

1
0

0
1

1
1

0
1

0
1

0

1
0

0
1

0
0

0
1



Q
u
oz

ie
n
te

e
pr

o
d
ot

to
so

n
o

ri
p
or

ta
ti

a
d
iff

er
en

ze
o

so
m

m
e

e
tr

as
la

zi
on

i
d
i
n
u
m

er
i.

L
a

sc
el

ta
d
el

la

b
as

e
2

co
m

p
or

ta
la

m
an

ip
ol

az
io

n
e

d
i
lu

n
gh

e
st

ri
n
gh

e
d
i
n
u
m

er
i
m

a
la

co
m

p
le

ss
it
à
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è

n
on

è
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è

si
è
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